LV.2 – Série L -Gay Longworth, Harvest, 2002.

I – COMPRÉHENSION   100 pts

1. In what city and when does the scene take place? Justify with three quotations from the text.  4 pts (1 + 3)


The scene takes pace in London (in Camden) on a Saturday night.


Justifications:

· “In London he felt stupid” (l. 10)

· “on Saturday night” (l. 7)

· “on Saturday nights” (l. 15)

· et aussi “his Saturday night” (l. 21-22)
2. Fill out Daniel's ID card.
4 pts

Nationality
Croatian

Current residence
London

Languages spoken
Croatian, English

Occupation
student

3. Explain the situation in your own words. 
6 pts

Daniel and Lizzie have arranged to meet in Camden. The boy gets nervous as the girl is late. 

When she arrives by car, she picks him up and drives away. The music is so loud that they 

cannot talk at all. They have a beer instead.

4. Put the events in chronological order and justify the statements by quoting the text.     16 pts (ou 0)


Events
Order

a
The boy gets more and more nervous.

“Daniel’s nerves took on a new form” (l. 14) ou “Maybe it was a set up? A joke at his expense?” (l. 16-17)) ou “Damn” (l. 19) ou “Daniel kicked the railings” 

(l. 19)
4

b
The boy gets ready for his date.

“One last splash of aftershave and he was ready” (l. 3-4) ou autre citation cohérente tirée du 1er §
2

c
The characters decide to meet at Camden.

They had arranged to meet at Camden (l. 5)
1

d
The girl arrives at Camden.

“He heard a car horn blurt out noisily” (l. 19) ou “He recognized the glasses” (l. 20) ou She waved and beckoned” (l. 20)
5

e
The boy walks to Camden.

“He used the walk” (l. 8) ou “he’d walked all the way” (l. 51)
3

5. From l. 5 to 23: pick out four quotations showing that Daniel is not sure of himself. 8 pts (2 pts ( 4)


“In London he felt stupid” (l. 10)


“Not wanting to look like a tourist” (l. 11)


“Maybe it was a set up?” (l. 16)


“A joke at his expense?” (l. 16-17)


“Of course a girl like this would not be interested in a Croatian language student”. (l. 17-18)

6. How well do the two characters know each other? Answer in your own words. 
(8 pts)

They do not seem to know each other very well. Daniel does not know about Lizzie’s exams, 

he is confused by her answers, does not know her phone number and is not sure whether she is 

interested in him or even if she will turn up. As for Lizzie, she does not know where Daniel lives.

7. From l. 1 to 25: Daniel goes through three different phases. In the list below, 

circle three adjectives that correspond to these phases. 
(4 pts)

relieved, bored, impatient, indifferent, hopeful, confident


Réponse : relieved, impatient, hopeful

8. Order them chronologically.  
4 pts ou 0


1.


2.


3. 

Réponse : hopeful, impatient, relieved (accepter aussi relieved, impatient, hopeful).

9. Explain what “It was a set up” (l. 16) means. 
    4 pts

She is late and he suspects that she may have played a joke on him (at his expense).


Accepter toute explication qui montre que Lizzie s'est moquée de lui, toute idée de coup monté.
10. Say whether these statements are TRUE or FALSE. Justify by quoting from the text.            12 pts 

      (2 pts x 6, 0 si pas de justification).

1. He prepared himself carefully for the meeting.

   TRUE. Accepter § 1

2. This meeting meant a lot to him.

   TRUE. This was his night, the start of a new life. (l. 4)



3. He walked to the meeting place because he lived close by.

   FALSE. To avoid getting lost, he had studied his route. (l. 12)

4. The girl was on time.

   FALSE. Fifteen minutes. (l. 13)

5. He feels inferior to other students.

   TRUE. Of course a girl like that… Italians. (l. 17-18)

6. Sharing a drink makes him feel better.

   TRUE. “Daniel immediately felt better.” (l. 46) ou “he smiled to himself” (l. 48) ou “that was a      good sign” (l.48)

11. Line 48: “Now that was a good sign”. What does the underlined word refer to?  
 4 pts

Sharing a drink

12. Line 50: “She was driving across town”. How can you account for the use of italics 


in this sentence?  
 6 pts


The use of italics reminds us of Lizzie’s excuse for not picking him up. Daniel realizes that she was not quite sincere when she said that she could not pick him up because she did not like driving across town.

13. Translate from “They had arranged …” (l. 5) down to “… traffic” (l. 8). 
 20 pts
Texte
Traduction
Points

They had arranged to meet at Camden. 
Ils avaient (étaient) convenu(s) de se retrouver à Camden.
3

Not in the station, she wanted him to walk a little up the hill 
Pas à la station (pas à la gare), elle voulait qu’il monte un peu la côte,
4

past the cinema and wait down a side street.
qu'il passe devant le cinéma et qu’il l’attende dans une petite rue en contrebas.
4

She would be waiting in a car.
Elle l’attendrait dans une voiture.
3

She has apologized for not offering to pick him up,
Elle s’était excusée pour ne pas avoir proposé de passer le prendre,
3

But she didn't like driving across town on Saturday night because of the traffic.
mais elle n’aimait pas conduire en ville le samedi soir, à cause de la circulation.
3

Total traduction

20

II – EXPRESSION    100 pts

Traitez l'un des deux sujets, au choix. (250 mots)

1. Imagine why neither Lizzie nor Daniel speaks the exact truth about their lives.

2. Comment on Lizzie's attitude at the wheel.

Guide pour l'évaluation de l'expression personnelle en anglais

Baccalauréat séries L LV2, ES LV1, S LV1 et S LV2

Suggestions du groupe d'anglais de L'Inspection Générale des Langues Vivantes

Candidat : copie N° _________________

Réalisation de l'exercice 

et traitement du sujet

4 points
Recevabilité linguistique

6 points
Total des points

0.5 point

· présentation inacceptable

· écriture illisible

· consignes non respectées

· hors sujet

· contresens


0.5 – 1 – 1.5  point

· inintelligible

· lexique indigent

· erreurs récurrentes de grammaire élémentaire


1 – 1.5 – 2 points

· recopiage du support

· hors sujet partiel

· sujet compris mais traitement plat et superficiel

· construction vague


2 – 2.5 – 3 – 3.5 points

· compréhension possible malgré des erreurs fréquentes

· lexique limité

· syntaxe peu élaborée


2.5 – 3 – 3.5 points

· existence d'une problématique

· effort de construction


4 – 4.5 – 5 points

· erreurs occasionnelles

· vocabulaire adapté

· syntaxe adéquate




4 points

· enchaînement des idées

· développement organisé

· références culturelles

· conviction, humour


5.5 – 6 points

· erreurs rares

· vocabulaire riche

· syntaxe élaborée

· capacité à nuancer


Dans un esprit d'évaluation positive, on n'hésitera pas à bonifier – en seconde lecture et selon une échelle + 0.5 / + 1 / +1.5 –  les copies qui se lisent relativement facilement, avec intérêt, voire avec plaisir.

On tiendra compte du soin apporté à la présentation et à la rédaction. On valorisera tout particulièrement les copies dont les auteurs ont réagi au sujet proposé en s'engageant et en exprimant un point de vue personnel.

Barème

Questions
points

· 1.
4

· 2. 
4

· 3
6

· 4
16

· 5
8

· 6
8

· 7
4

· 8
4

· 9
4

· 10
12

· 11
4

· 12
6

· 13
20

Total compréhension et traduction
100

Expression
100

Total général
200
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